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[Texte]

Mr. Bourne: That will go into the general flow. As we look at 
our plans going forward, as our business plan is laid out... And 
as I mentioned in my comments earlier, we have been investing 
at greater than the rate of depreciation; therefore we are using 
cash and we will continue to need cash for the foreseeable future 
as we continue to grow the business. This will form part of that 
stream of cash.

Mr. Pickard: Now you did mention there would be something 
paid on the share value. I don't know what that would be. It might 
be worked out. The minister, when he was here discussing it, said 
it could be 6%, 7%, 8%. Something that is coming across is that 
as the corporation grows, as the assets grow, you’re going to look 
at some premium paid on shares.

Mr. Bourne: Excuse me, no. We will be developing a dividend 
policy, as one would in any corporation, and the shares will earn 
dividends consistent with that policy.

Mr. Pickard: So specifically we’ll look at dividends from—

Mr. Bourne: Right.
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Mr. Pickard: All right. Would the dividends cover 10% of the 
value of the corporation?

Mr. Bourne: Not necessarily. Dividends are generally done as 
a percentage of prior-year earnings, and we would have to 
structure it accordingly.

Mr. Pickard: So these dividends are then paid to employees 
who own shares in the corporation.

Mr. Bourne: Yes.
Mr. Pickard: Will equal dividends be paid to the public of 

Canada on the top end?
Mr. Bourne: Yes.
Mr. Pickard: So you are looking at a huge payment from 

however this is coming, to the government, out of Canada Post, 
and a smaller payment coming to the employees—and quite a bit 
smaller, I might add.

Mr. Bourne: In absolute amounts of money, yes, but in 
relation to the equity in the business, no. In other words, if 10% 
of the equity is owned by the employees, they will get 10% of the 
dividends.

Mr. Pickard: Exactly. I was just looking at this dividend that 
will be paid to the government as... And would that be over and 
above any corporate profits that—?

Mr. Bourne: It would be part of corporate profits, in that 
dividends are paid out of prior-year earnings.

Mr. Pickard: It would be part of the escalated value of the 
corporation. All right.

The Chairman: Mr. Samson.
M. Samson: Allez-vous me donner une deuxième chance?

[Traduction]

M. Bourne: Cela entrera dans la caisse générale. Dans 
l’examen de nos projets, dans notre plan d’entreprise... Et vous 
vous souviendrez que je disais tout à l’heure que nous avons 
investi plus rapidement que ne l’auraient permis nos amortisse­
ments et qu’ainsi nous avons besoin de liquidités et continuerons 
d’en avoir besoin si nous voulons continuer à développer notre 
entreprise. Ceci fera partie des liquidités que nous pourrons 
utiliser.

M. Pickard: Vous avez mentionné que quelque chose serait 
versé en fonction de la valeur de l’action. Je ne sais pas ce que 
cela représenterait. Peut-être faudra-t-il le calculer. Le minis­
tre, lorsqu’il nous a parlé de tout cela, a dit que ce pourrait être 
6,7,8 p. 100. On a cru comprendre qu’au furet à mesure que la 
société se développerait, que son actif augmenterait, vous 
envisagiez de payer une sorte de prime sur les actions.

M. Bourne: Excusez-moi, mais non. Nous aurons une 
politique de distribution de dividendes, comme toute autre 
société, et les actions rapporteront des dividendes selon les 
termes de cette politique.

M. Pickard: Donc, plus précisément, il s’agira de dividendes 
de...

M. Bourne: C’est cela.

M. Pickard: Bien. Ces dividendes couvriraient-ils 10 p. 100 de 
la valeur de la société?

M. Bourne: Pas nécessairement. Les dividendes sont habi­
tuellement calculés sur un pourcentage des gains de l’année 
précédente et c’est ainsi qu’il nous faudra les structurer.

M. Pickard: Ces dividendes sont alors payés aux employés 
actionnaires.

M. Bourne: Oui.

M. Pickard: Paiera-t-on également ces dividendes à la 
population canadienne?

M. Bourne: Oui.

M. Pickard: Cela peut donc représenter un paiement 
énorme, d’où qu’il vienne, que Postes Canada ferait au 
gouvernement et un paiement moins important aux employés— 
nettement moins important, certainement.

M. Bourne: En montants absolus, oui, mais par rapport à 
l’actif détenu dans l’entreprise, non. Autrement dit, si 10 p. 100 
de l’actif est détenu par les employés, ils toucheront 10 p. 100 des 
dividendes.

M. Pickard: Exactement. Je considérais simplement le 
dividende qui serait payé au gouvernement en tant que... Et 
cela s’ajouterait-il aux bénéfices de la société que...?

M. Bourne: Cela ferait partie des bénéfices de la société en ce 
sens que les dividendes sont payés sur les gains de l’année 
précédente.

M. Pickard: Cela ferait partie de l’augmentation de valeurs 
de la société D’accord.

Le président: Monsieur Samson.

Mr. Samson: Are you going to give me a second chance?


